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���7KRX�6KDOW�1RW�'HSHQG�RQ�0H��$QDO\VLQJ� WKH�8VH�RI�2XWGDWHG� -DYD6FULSW�
/LEUDULHV�RQ� WKH�:HE�� > @��²� � �� KWWS���ZZZ�FFV��
QHX�HGX�KRPH�DUVKDG�SXEOLFDWLRQV�QGVV����MVOLEV�SGI�
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��� 6Q\N� %ORJ�� ���� RI� �������� 6LWHV� 8VH� 9XOQHUDEOH� -DYD6FULSW� /LEUDULHV��
> @��²�� ��KWWSV���VQ\N�LR�EORJ����SHUFHQW�RI�VLWHV�
VWLOO�YXOQHUDEOH��
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7\]XQ� 9LWDOLL� <XUL\RY\FK� ±� VWXGHQW�� 'HSDUWPHQW� RI� &RPSXWHU� (QJLQHHULQJ��

1DWLRQDO�7HFKQLFDO�8QLYHUVLW\�RI�8NUDLQH�³,JRU�6LNRUVN\�.\LY�3RO\WHFKQLF�,QVWLWXWH´��
(�PDLO��YLWDOL\�W\]XQ#JPDLO�FRP�

7\]XQ�9LWDOLL�
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5HOHYDQFH� RI� WKH� UHVHDUFK�� :KHQ� GHYHORSLQJ� PDQ\� ZHE�VHUYLFHV� XVH� WKLUG�
SDUW\� OLEUDULHV�� ZKLFK� GRHV� QRW� DOZD\V� JXDUDQWHH� WKDW� WKH� PHWKRGV� LPSOHPHQWHG� LQ�
WKHP�ZLOO�EH�FRPSOHWHO\�VDIH�IRU�XVH�

7DUJHW�VHWWLQJ��:KHQ�ZRUNLQJ�ZLWK�WKLUG�SDUW\�OLEUDULHV��WKH�UHVRXUFH�GHYHORSHU�
PD\�QRW�EH�DZDUH�RI�YXOQHUDELOLWLHV�WKDW�FRQWDLQ�FHUWDLQ�PHWKRGV�RI�WKH�OLEUDU\�XVHG��

$FWXDO� VFLHQWLILF� UHVHDUFKHV�DQG� LVVXHV�DQDO\VLV��:KHQ� LQYHVWLJDWLQJ� D� ODUJH�
QXPEHU�RI�ZHE�VHUYLFHV�� LW� KDV�EHHQ� IRXQG� WKDW�PRVW�RI� WKHP�FRQWDLQ� YXOQHUDELOLWLHV�
DVVRFLDWHG�ZLWK�WKH�XVH�RI�SRSXODU�OLEUDULHV��

7KH� UHVHDUFK� REMHFWLYH�� 7KH� SXUSRVH� RI� WKLV� VWXG\� LV� WR� LGHQWLI\� WKH� PRVW�
SURPLQHQW� VHFXULW\� YXOQHUDELOLWLHV�� OLEUDULHV� WKDW� SURYLGH� WKHP�� DQG� PHWKRGV� IRU�
SUHYHQWLQJ�WKHVH�YXOQHUDELOLWLHV��

7KH� VWDWHPHQW� RI� EDVLF� PDWHULDOV�� $W� WKH� PRPHQW�� WKH� GHYHORSPHQW� RI�
-DYD6FULSW� WRROV� LV� QRW� SRVVLEOH� ZLWKRXW� WKH� XVH� RI� DW� OHDVW� RQH� RI� WKH� WKRXVDQGV� RI�
DYDLODEOH�RSHQ�VRXUFH�-DYD6FULSW�OLEUDULHV���

+RZHYHU�� WKHVH� EHQHILWV� DUH� ULVN\�� EHFDXVH� -DYD6FULSW� OLEUDULHV� PD\� KDYH�
VHFXULW\�YXOQHUDELOLWLHV��

&RQFOXVLRQV�� )LQGLQJ� DQG� GHWHFWLQJ� YXOQHUDELOLWLHV� LQ� ZHE� VHUYLFHV� XVLQJ�
-DYD6FULSW� LV� D� GDXQWLQJ� WDVN� EHFDXVH� WKLUG�SDUW\� OLEUDULHV� DUH� RIWHQ� LQYROYHG� LQ�
GHYHORSPHQW��+RZHYHU��WKHUH�DUH�WRROV�WKDW�FDQ�VLPSOLI\�DQG�DXWRPDWH�WKH�SURFHVV�RI�
ILQGLQJ�DQG�FRUUHFWLQJ�YXOQHUDELOLWLHV�LQ�WKH�SURMHFW��
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